1755 A 2 d NQREF .l 026%

{3 @ resonance.ac.infansv + (3

¢ SCRIBD

Besorence’ | e maN-2023 | DATE : 29-01-2023 (SHIFT-1) | PAPER-1 | MEMORY BASED | CHEMISTRY

PART : CHEMISTR

1 Select the correct option :
Liz0 K0 Naz0:
(1) Diamagnetic Diamagnetic  Diamagnstic
(2) Paramagnetic Diamagnetic  Diamagnetic
(3) Paramagnetic Paramagnetic  Diamagnetic
(4) Paramagnetic Paramagnetic Paramagnetic
Ans, (1)

Sol. O=& O are diamagneiic,

2 Give tha correct order of bond dissociation enargy 7
('F-F>Cl-Cl>Br—Br>1-1
(2)F-F<Cl—Cl<Br—Brel-1
(3)Ci—Cl>Br—Br>F—-F>1-1
(4)Cl—Ct>Br—Br>1—-I>F-F

Ans.  (3)
Sol.  InFzdue to small size LP — LP rapulsion |s high.
Halogens Bond dissociation
energy (KJ/Mol)
= 158.8
Cl 2428
Bra 1928
I 1511
Order of bond dissociation energy is Ol —Cl=Br—Br>F-F=1-1.
3 Arrange the following in decreasing arder of their hydration energy
Mg2r  Cs* K Ca?

(1) Mg* = Ca**= K== Rbh*> Cs*
(2} Cs* > Rb~ » K* > Ca®> Mg~
(3} Mg? > Ca®*> Cs* > Rb* > Kr
{4) K'> Rb* > Cs%* > Ca”* > Mg*
Ans. (1)
Sol. Mg™>Ca® =K >Rb >Cs"
Diecreasing the size, hydration energy increases.

4, Which among the following represent reactions of mond process 7
(1) Ti + 20— S0 2C ),

Tl L, —B80FC . Tj&20
Turgasan flaenan

(2)Ni+4C0 5 INi(CO)]
NI(COM] —2E_, Ni + 4C0
(3) 4Ag + O2 + 2H20 + BNaCN —» 4Na[Ag(CN):] + 4NaOH
2NalAg{CN}z] + Zn—— 240 + Naz[Zn(CN).]
(4) 2AIN + 3Hz0 —+ Al{OH}= + 2NHs
Ans.  (2)
Sol.  Theory Based
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5.

Ans.

Sol.

Ans.

Sol.

Identify total number of odd electron species form following
MOz, NOz*, ClQz, NO. ICla | BrFs

3)
Species Total electron
MO 25
Ci0:z
NO 1

X =number of bridging CO present in Mnz(CO )«
¥ = number of bridging CO present in W{CO)e

Find out (X +Y)
10)
co
coO ¢co
Co\l T ' o CO\J\, /0
CO—Mn—Mn—CO
co/}I N co‘/] N\eo
co
0 Co
xX=0 ¥=0
X+Y=0

Oxldation of ammonia in Osiwald process lsads to [A], which on further oxidation forms [B]. Hydration
of [B] forms oxe acids, one of which again forms [A] on decomposition. [A] & [B] are respectively

1B]
(1) NO NO:
@ NO: N2
(3) NG NO
4) NzOs Nzl
()

NH:+ Q2 — NP +H:0
(A)

NO+ 0z 2 NO.
p=

NOw + HiO » HNOz + HND:
HMOz—— NO + HzO + HNOa

Which of the following metal ion will releasa H: gas on reaction with dilute acid solution
Gven El. . :=-0255V

EL 1 p 2 =—0407 V
Eppo s =154V
EZ, jeore = 1BV
(1) Ve, Gre [2) Min2t, Co?r (3) V=, M2t {4)Crér, Co™
(4]
The metal ion for which have less value of reduction potential than | E:': . = 0] can release Hz: on

reaction with dilute acid.
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9. In borax bead test. by heating CuS04 a green blue bead is obtained in oxidising flame consist of
fallowing -
(1) Cu {2) Cu(BO:) {3) Gy 4) Cuo

Ans,  (2)

Sol. CuS0s 2 ; CUO+S0:
CuQ + B20:—— Cu{BOz):

10. Far a reversible reaction at 27°C
He = 100
P4
K= 1%
Value of AG for above reaction is — Kdimoie
{Nearesi integer)
J

[Given R =83 ,in10=23]
molexk
Ans.  (B)
Sol.  Ke=XHe_10% _qp
Ky 107

AG" = -RT fn Kayg

=— 8.3 % 300 i {10

=-83x300x=23

=-5.72=107 )

=-35.72KJ
1. Far one mola real gas, the cormact value of Z at point P using following graph is

Y
P—
b a a

144 &= 21+ e #) 1= ——

it B S = 01 SRt
Ans.  (4)
Sol.  For 1 mole of real gas

a . =
!qu..: (V-b)=RT
In low pressure range
{p+t)v=RT

paew i
PNE

PV+ 2 =RT
5 ==
v

PV _a

ey

RT VRT
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12, The milimole of Ca{OH): dissoived to obtained 100 ml of solution of pH = 12is ®10-1
Ans.  (5) i
Sal: (pH= 12 = pDH=2 so [OH]=107M.
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12. The milimols of Ca(OH); dissolved I obtained 100 ml of solution of pH = 121s =101
Ans,  (5)

Sol. pH=12 = pOH=2 so [OH]=103=M
ilimole of [OH]= 102 100 =1
Ca(0OH)2(s) — Ca? (agq.} + 20H- (ag.}
f
Emlllﬂ’l‘.ﬂﬁ 1 milimole
: |
milimols of CalOH)s = 3 =5 = 10" milimole
13. For reaction at P = 1 bar and 2300 K.
H20(g) — Halg] + = Ox(g)
i
K= 2 = 10-%, the value of degree of dissociation is.........x10-? [Nearest integer]
Ans.  (2)
. 1
Sol.  H:0{g) — Hzg) + = Ox(g)
'
1-a o al2
3
= |z =242 % 10-% [m<< 1)
3
lefz = 45 x 107
(af = (22 * 100
w=2x% 102
14. Write inereasing order of pk. of following compeunds
H H H
H H=C: MOz
CHs
[} NG CHa MOz
a) (b) (e} id) (e}
{(lya<b<c<d<e (Zla<c<h<d<e
(fle<c=h=a<d (Hd=p=h=c=g
Ans,  (3)
Sol. M and - group increases the acidity of phenol and +M and +1 group decreases the acidity of phenal.
15. Select the correct statement from the given below
(1) Classical smog has high concentration of oxidising agant
{2) Photochemical smog has high concentration of oxidising agent.
{3) Classical smog contains SOz & NOz.
{4) Classical smog contains NOz
Ans,  (2)
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Photochemical smog has high concentration of oxidising agent like oxides of nitrogen, oxides of
sulphur, acralein & ozane
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Sol.  Photochemical smeg has high concentration of oxidising agent like oxides of nitrogen, oxides of

sulphur, acrolein & ozons.

(1) Zn-HgHCl
i [l|] LIAIHs =LAl S
' {iii) Ha0= fodue
MH:
o
H
OH
)
Ans.
NHz
o1 Zn-Hg/Hol W
@V\N/ th|H‘, @W
17, Match the following given reaction (Column-1) and Reagent (Column-I).
Column-| Column -l
_Reaction Reagent
_(1) | Hoffmann Degradation (i} _| CHCls, NaOH
(2) | Clemmensen reaction i Con. KOH
(3) | Reimer-Tiemann reaction | (i) | NaOH. Bra
(4) | Canizzaro reaction {iv) | Zn—Hg, HCI
(1) (Vi §2(ine), (3h-(1}, (3 i)
(2) (1), (2)-(0v), (3}, (4)-i)
(3) (1w, (24, (3G (@i
(4) (UG, (20, (30, (4)-0i)
Ans. (1)
Sol. Based on Facts.
18, Which of the following compounds give positive Lassaigne test for both nitrogen and hatogen.
(1) NHsCl {2) NH:OH.HCI
(2) NH«OH. 2HC (4) GH:MHz.2HE
Ans.  (4)

Sol. Lassaigne test for both Nitrogen & Halogen is given by the compound which have C, N as well as X
atom in the compound.

19, How many cycllc lrlpemldP‘, are formed by twe amino acids (A) & dBJ
(15 {2)4 (33 4}
Ans.  (2)
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Sol.  With two amino acids (A) & (B} only two combination of tripeplides is possible. AAB and ABB
Further in cyclic tripeptides AAB & ABB has only one possible cyclic arrangements hence the answer is
2

20, 17 mg of C1aH4a requires 8.4 mL of Hz at STP. A on Dzonolysis gives

LS b i

Find number of double bonds in the compound.
Ans.  (3)
Sol. MNumber of carbon in compound is 10
Degree of unsaturation in (A) is 3.
Number of products formed on Ozonolysis is 4. Twe moles of HCHO, one moles of CH:EC0CH: and one
mole of CHO-CO-CO-CH—CHO
Ower all (4) fragmants on Ozonalysis hence number of z-bond = 3.

21. Arrange the following compound in the increasing order of their boiling point.
(i} (i) {iriy {iv)
A T N R T b B R N
i Bt . cl o F

(1) 4i) = i) = (i) = iv) (2) (1) = (i) = (ji) = (i)
(3) () = (i) = (i) = (i) ) iy = {iid = {i) = (iv)

Ans. (1)

Sol. Boiling peint for Alkyl halide « Vander wali's forces.
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